


07B11000

Nr. Bezeichnung Bestellnr. Stk Preis Nr. Bezeichnung Bestellnr. Stk Preis

CHF/Stk. CHF/Stk.

1 Bügelgriff 77B11590 1 91.00 19 Schraube                      M6x60 80201140 4 2.00

2 Lamellenstopfen 80900252 4 3.00 20 Sicherungsscheibe                6 80201362 4 1.00

3 Federring                                6 80201303 4 1.00 21 Kupplungsglocke 77B11480 1 82.00

4 Innensechskantschraube M6x14 80201428 4 1.00 22 Sicherungsring                    12/1 80201321 2 1.00

5 Arbeitsspindel 77B11420 1 37.00 23 Benzin-Motoreinheit, kpl. 80700187 1 417.00

6 Rillenkugellager            6003 2RS 80410043 2 19.00 24 Sechskantmutter                 M5 80201003 1 1.00

7 Getriebegehäuse 77B11400 1 82.00 25 U-Scheibe                           5,3 80201374 1 1.00

8 Getriebedichtung 82000441 1 6.00 26 Federring                            5 80201302 1 1.00

9 Spindelrad 77B11430 1 40.00 27 Zylinderschraube            M5x35 80201137 1 1.00

10 Rillenkugellager                  6000 80410020 2 9.00 28 Luftfilterabdeckung 67B11361 1 8.00

11 Ritzelwelle 77B11490 1 33.00 29 Luftfiltereinsatz 67B11362 1 3.00

12 Rillenkugellager              6001 2Z 80410031 1 11.00 30 Tankdeckel 67B11410 1 3.00

13 0.00 31 Zündkerze 67B11382 1 15.00

14 Zwischenwelle 77B11500 1 33.00 32 Zündelektronik 67B11403 1 33.00

15 Zwischenrad 77B11470 1 33.00 33 Ölverschlussschraube 67B11369 1 3.00

16 Nadelhülse                    HK 0810 80420110 1 12.00 34 Mitnehmer 67B11367 1 6.00

17 Getriebelagerschild 77B11610 1 82.00 35 Starter, kpl. 67B11364 1 40.00

18 Zylinderstift                  5m6x12 80200574 1 1.00 36 Vergaser 67B11380 1 51.00

  

EHR 750 B 


